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AS-1 %Q
DISCLOSURE OF ACCOUNTING POLIG@

The preparation of financial statements is the responsibility of the
enterprise. This includes selecting appropriate accounting policie§
consistently from one period to another. Financial statements i
Account, Balance Sheet, Cash Flow (if prepared) and Notes to acc s.

@y requiring disclosure of

PURPOSE

# To Promote better understanding of financial state
sighificant accounting policies in orderly manner.

B To facilitate meaningful comparison between fina afe

MEANING OF ACCOUNTING POLICIES

1. *Specific accounting principles® and

2. #Methods# of applying those pr
statements

or net realizable value whichever is lower
ed in calculating the cost of inventories.

e.g. * Inventory should be valu
# cost formula such as F app

e.g. * Tangible Fixed \Assets /should be valued at historical costs and should be
depreciated over i}s usef
# Method of calculoti

Depreciation by using SLM or WDV

AN

ents of different enterprises.

gs_in preparation and presentation of financial

[Describe @\%ﬁ "Accounting policies” (CA-FINAL, MAY 1992 (2 MARKS)]
CH DIFFERING ACCOUNTING POLICIES ARE ENCOUNTERED

N

B atment of Goodwill (e.g. Capitalisation Method, Super Profit Method)

AREAS T

Valuation of Inventories (e.g. FIFO, Weighted Average Method)
# Valuation of Investments (e.g. lower of cost and fair value)
B/ Valuation of Fixed Assets (e.g. Historical cost, revalued amount)

B’ Methods of Depreciation (e.g. WDV Method, SLM Method)
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B Treatment of profit on long-term contracts (e.g. proportionate completio

H Methods of translation of foreign currency (e.g. avg. rate, TT, buying ra¥e)

[Mention any six areas in which different accounting policies may be adopt (:, erent
enterprises. (CA-FINAL, MAY 1995 (6 MARKS)]

CONSIDERATIONS IN THE SELECTION OF ACCOUNTING POLICI@

PRIMARY CONSIDERATION

The financial statements prepared & presented on the basis o ting policies should
represent a true and fair view of the state of affairs of the i

SECONDARY CONSIDERATION
I Prudence (i.e. policy of conser vatism)

This concept is expressed as : "Recognise alidosses and anticipated no gains”. This
concept attempts to state the low ikely value of assets and profits, and highest

likely amount of any losses or liabiliti curred.

w‘ exercise of prudence in selection of accounting
g e

e.g. The most common exa
policy is the policy of valuin
(o

W/

However, Exercise of pru oes not allow

tory at lower of cost and net realisable value.

-the creation\of hidden reserve or excessive provisions,

-the deliberateunderstates of assets and income,

-the delib e overstatement of liabilities and losses.

, financial statements would not be natural and therefore not be

reliable.

)

%ppose a company is facing a damage suit. No provision for damages should
e

Q% gnised by a charge against profit, unless the probability of losing the suit is
more than the probability of not losing it.

N

E.G. A Ltd. Has secured a patent whose legal life is 20 years, the patented product
is likely to sell for 10 years. But the company intends to amortize the patent over
3 years - on grounds of prudence.

Ans. Prudence does not justify deliberate overstatement of expenses. Hence, an
unreasonably short useful life is not justified.
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I Substance over form (i.e. recording transactions considering economic reaﬁ@

not merely the legality.) %
Transactions and other events should be accounted for and presented 9 ce

statem .

with their substance and financial reality and not merely with theip

e.g. Accounting for hire-purchase transactions, the hire pur
asset at its cash down price, while paying for it by install

period of time. %
e.g. A Ltd. Has sold its building for Rs. 50 lakhs has paid the full

price. Company has given possession to the purchgser, ok value of building is
Rs. 35 Lakhs. As at 31*" March 2003, documé @ legal formalities are
pending. The company has not recorded the dispesal-1t)has shown amount received
as advance. Do you agree with this treatment? ‘
Ans. Although legal title has not beey ran ed, the economic reality and
substance is that the right and beneficia @s’r in the immovable property have
been transferred.
Seller’s Point of View :- ALtd. S record the the sale and recognize the profit
of Rs. 15 lakhs in its Profit and lass aceoynts. It should eliminate the building from
its balance sheet. In notes to aceq i+’ghould disclose that building has been sold,
full consideration has bee <ied and possession has been handed over to the
buyer and documentation and\egdl formalities are pending.
Buyer's Point of View : » should recognize the building as an asset in his
balance sheet and charge\dgpfeciation on it. The buyer should disclose in the notes
to accounts Th(ﬁ’r{pss sion has been received and documentation and legal
din

formalities are p é)

# M be. an item that influences decisions of users of financial

al statements should disclose all 'material items, i.e. the items the knowledge
might influence the decisions of the user of the financial statement.

M iality is not always a matter of relative size. Both amount (quantity and nature
quality) of mis-statement should be considered while judging material materiality.

E.G. A small amount lost by fraudulent practices of certain employees can indicate a
serious flaw in the enterprise's internal control system requiring immediate
attention to the user of Financial Statement to avoid greater losses in future.

E.G. Payment of panalties/fines for viclation of law should be disclosed separately,
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RN

even if the amount is negligible. It should not be clubbed together with "Qffice

Expenses”. %

[What are the major considerations, which govern the selection and\ appli for of
accounting policies (CA-Inter Nov. 1995(6 Marks)

HINT : Give detail about on primary consideration and second

FUNDAMENTAL ACCOUNTING ASSUMPTIONS éi %:

B GOING CONCERN (i.e. continuing in op@m%he foreseeable)

)
The financial statements are normally prepar the @gsumption that an enterprise will
continue in operation in the foreseeable futur either there is intention, nor there

is need to materially curtail the scale
likely to be compatible with the infenti

operations. Going concern assumption is not
necessity to enter into a scheme of

arrangement with the enterprise's cre o liquidate in near future.

&

= CONSISTENCY(e—following consistent accounting policy from one period
to another)
The principle of consi
similar transactions
financial statements t
required (i) by tatute (ii) by an accounting standard (iii) for more appropriate
presentatio | statements.

Foreseeable Future generally a not o exceed one year after balance sheet date.

rs to the practice of using same accounting policies for
tcpunting periods. The consistency improves comparability of
time. An accounting policy can be changed if the change is

Howeve istericy is not an excuse to adopt or continue to adopt inappropriate

acco@ policies.

ACCRUAL (i.e. mercantile system of accounting)

The\users of financial statements assume that the financial statements have been
ed on accrual basis. Under accrual basis of accounting revenues and costs are
recognized as they are earned or incurred, not as money is received or paid.

Section 128(1) of the Companies Act, 2013 makes it mandatory for companies fo maintain
accounts on accrual basis only.
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(4

These are not specifically stated in the financial statements. Their acceptance and
assumed.

[Write a short note on fundamental accounting assumptions (CA- Inter may 200

Marks)]
DISCLOSURE OF ACCOUNTING POLICIES @

& All significant accounting policies adopted should be discl @
nts.

T The disclosure should form part of the financial statefie

B Any change in the accounting policies which has mffec‘r in_the current
period should be disclosed along with amount of ef

B If the fundamental accounting assurnpﬁoas@followed, the fact should be

disclosed. %c//
[Briefly describe, the requirements of AS-1 in regard toNdisclosure of significant policies. CA-

Final May 1995 (8 Marks)]

&
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such higher profit.

PURPOSE @

# Specifies the principals for valuing the inventory.

& Disclosure of the specific policies adopted by t At, fagement for the valuation of

inventory. )
Inventories are assets :

* held for sale in the ordinary ¢gurs business. (e.g. finished car ready to
be dispatched to the deale

= inthe process of produ h sale.(e.g. car in the assembly lines)

= in the form of m supplies to be consumed in the production

process or in the ren g of services. (e.g. tyre, battery, headlights etc.)

[As per Accounting Standard -
term 'inventories? (RTP Now:

Inventories /‘d&ﬁf include machinery spares, standby
Equipmen‘rminq equipment if these item covered in

definitidh of PPE of AS-10.

This s %ﬁ”d be applied in accounting for inventories other than:
n
c

ised) 'Valuation of Inventories’, what is meant by the

k-in-progress in construction contract and directly related service

act (ref: AS-7) However inventories not forming part of construction work-
in-progress will attract AS-2; Inventory held for use in construction, e.g. cement
lying at the site shall be covered by AS-2
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¥ Work-in-progress arising in the ordinary course of business of service provid

i.e. cost of providing a part of service.

e.g. For a shipping company, fuel and stores not consumed at the end of @
period is inventory but not costs for voyage-in-progress. LN
Work-in-progress may arise for different other services

E.g. software development, consultancy, medical services, merchant b

\/
B Shares, debentures and other financial instruments h in-trade (ref:
AS-13 as Current Investments)

B Producer’s inventories like livestock, ugr'lculfues‘r product, mineral

oil/gasses as measured at net realizable value . rade practices at certain

stage of production.

E.G. Grow more Pvt. Ltd. A wholesaler in food aﬁc&\?her‘ agro products has valued
the year end Inventory on Net Rea le~Malue on the ground that AS-2 does
not apply to inventory of Agricultural Rroducis. Comment

ANS. Producer’'s inventories estock, agricultural and forest product,
et realizable value as per trade practices at
certain stage of produc R?? e_nbove principle does hot apply to Trader's
Inventory of Food and Agrg\Products. In the above case Grow more Pvt. Ltd. is

only a trader (whdlesal

mineral oil/gasses as measured g

pt the producer. Hence they cant value their
inventory at NRV. (The Company should value the inventory at lower of cost or

Net r'ealizable&h.le.

MEASUREMEN%E ENTORY

Inventorie d be valued at the lower of Cost and Net Realisable Value.

[ Stat % | principle of valuation of inventories laid down by accounting standard-2
(RTP Nov.\2011

OF INVENTORY
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The cost of invent ories should comprise:
(i) Cost of purchase (ii) Cost of conversion (iii) Other costs

K Cost of purchase

N GARG é@

Purchase Price including Duties and Taxes (excluding tax
refunds/credit) (

Add:- Freight Inwards

VAN
Add:- Other Expenditure directly attributable to the purcha{é vjjﬁ
brokerage on purchase, packing cost of transportation ETW

would be Rs.11,500. The material i
conversion costs (labour and dire
overheads) amounting to Rs.1,800 a
goods amounting Rs.1,700 is bei
CENVAT credit of Rs.1,500. C

o

payable on finished goods
materials consumed. Thus, WAT related excise duty cannot b

part of the cost of invento S
Rs.13,500 (11,500 +(1,80@4

00 - 1,500) only.]

Less:- Trade Discount, Rebate, Duty drawback & oth milar | (xxx)
items (NN
Cost of Purchase NN XXX
N~
%/\
E.G. Nidhi Ltd. purchased raw materials ié#%ice of Rs.10,000 onh which
excise duty of Rs.1500 is paid. Cost of invento raw materials) at this stage

ereafter processed. For this purpose
ads, and other fixed production
incurred. Excise duty liability on finished
ng paid e company. Company is entitled for a
@ Ffhevalue of inventory. (RTPNov. 2010)
Answer Since Nidhi Ltd. is_entit -=- a CENVAT credit of Rs.1,500, excise duty
otiohally adjusted against excise duty paid on

The cost of inventory would thus be valued at

e included as a

Punjab @ Rs. 1
Kg and Rs.
5% of the oranges were damaged in transit and discarded. This loss
Calculate

2,00,000
20,000
8,000

E.G. Pepsi India L‘rd.w‘zd 20,000 kgs. of oranges from farmer of Hosierpur,
r kg. Orange collecting agent's commission were paid @ Re 1 per




 Cost of conversion: includes:
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@ Labour Costs directly related to the production of finished goods

for stitching one T- Shirt and Rs. 100 for stitching one track NGive
Answer: At the time of calculating cost of T-Shirt Rs. 50 is)t

calculating cost of Track suits Rs. 100 be added. i
@ Variable and Fixed production overheads that are incurFa\d\@ver"ring materials

into finished goods.

Variable production overheads are those sts of production that
vary directly, or nearly directly, wit
indirect materials.

Fixed production overheads hgese indirect costs of production that
remain relatively constant reddrdless the volume of production, such as
depreciation and maintengnhce\0 ry buildings and the cost of factory

management and admini @

e of production, such as

Eg. N

You are required to value the inven perkg of finished goods consisting of:
Rs. per kg.

Material cost 00

Direct labour

Direct variable overhead 2

Fixed production charg r the year on normal working capacity of 2 lakh kgs is

Rs. 20 lakhs. 4,0 ished goods are in stock at the year end.(CA Adapted)
Answer As per 2, cost of conversion include a systematic allocation of

fixed and vapi %h ads that are incurred in converting materials into finished goods.
The alloc fixéd overheads for the purpose of their inclusion in the cost of
conversi% ed on normal capacity of the production facilities.

Cost péx Kg.of. finished goods:
o
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=N

Material Cost

Direct Labour 40 N
Direct Variable Production Overhead 20 B
10 <&
Fixed Production Overhead 20.00.000 - i
2,000,000

7aNN

Q\)

Hence the value of 4,000 kgs. of finished goods = 4,000 kgs x T 270
= ¥ 10,80,000

B Where actual production is less than or equal

overheads are recovered on the basis of norn

NP)

® Where actual production is more than

are recovered on the basis of actual &%
AN

n%paci‘ry, fixed
pagity. (AP<NP, Use

A-n ity, fixed overheads
. (AP>NP, Use AP)

e.g. Normal output of your factory is 20,000 units pe th. You normally charge fixed
overhead per unit @ Rs. 20. To complete a s
overtime every weekend for last 4 months. N
Total fixed overhead per month = Rs. 20 x 2

Under changed circumstances, the fixeg
New Rate: Rs 4,00,000/25000 =Rs. 16

estimated at Rs. 5,00,000. Give the

. 4,00,000.

ial order¥from china, your factory works
tput is 25,000 units per month.

ate will be reduced:

[ame is 50,000 units and the Fixed Overheads are
rreatment of Fixed production OH under AS-2, if

actual Production during a iod was ¥ (a) 42,000 units (b) 50,000 units and (c) 60,000
units.
Solution
Fixed Normal Eﬂml F. Oh.|F. Oh.|Rate to|Inventories | Period cost
Overhead | capacj ity | Rate as |Rate as|be used | cost
% per per for
x% Normal | Actual valuation
ﬂ > Capacity | Capacity
500000 ~ [58000 | 42000 |10 11.90 10 420000 8000
5000Q®\ \5@?@@ 50000 10 10 10 500000 Nil
500000,\ | 50600 | 60000 | 10 8.33 8.33 500000 Nil
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Point to be noted Normal Capacity represents production expected to be achieved g
average over a humber of periods or seasons under normal circumstances (Normal Capaci
= Total capacity less Plant Maintenance Time)

However low production levels, or idle plant for abnonrmal reasons are 0
consideration in determining the Normal capacity.
XN

factors must be taken into consideration. It should not be calsu on) the basis of
calendar days.

E.g. Before Diwali you close the factory for routine maintenance and cleating. ¥ou follow 5
days a week and single shift each day. At the time of calculating noffha all these
1.

E.g. Productions were suspended for 4 weeks for flood. T &-- e period should not be

less for calculation of Normal Capacity. )

#t Other costs: included only to the extent are incurred in bringing the
inventories to their present location and conditish

v' These would include inward transpbrt torage costs prior to completion of
s for specific customers.
borrowing costs are not included in the

production or the cost of de' g
v" It should be nhoted that in @ :

cost of inventories.
R

E.g. How would you deal with the meg in the annual accounts of a company for the
year ended 31.3.2013?

"The company has to pay dé¢lay t¥on clearing charges over and above the negotiated
price for asking delayed dekvery of/cotton from the supplier's godown. Up to 2011-12, the
company has regularlydncludedsuch charges in the valuation of closing stock. This being in
the nature of interest ompany has decided to exclude it from closing stock valuation
for the year 2012 uld result into decrease in profit by Rs. 7.60 lakhs."

Solution:

As per para 12, A aluation of Inventories, interest and other borrowing costs are
usually co ~@: as ot relating to bringing the inventories to their present location and

condi‘rio, therefore, usually not included in the cost of inventories. Thus, it
q I

ear that delayed cotton clearing charges which were treated in the nature
of interest must not be included while valuing closing stock as per the provision of AS 2
andit in compliance with AS 2 which was done up to 2010-11.But from year 2011-12,
the company decided to change the earlier view i.e. they decided to exclude the same from
the valuation of closing stock which is, no doubt, in compliance with AS 2. As a result of
C in accounting policy regarding valuation of stock the profit was reduced by is Rs.

.60 lakhs which must be disclosed in the financial statement or per AS 1 as Notes to

»
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\ Account. @
EXCLUSIONS FROM THE COST @QQ@

B Abnormal wastages of materials, labour or other production costs. @

B Storage costs, unless they are necessary in the production proces
B/ Administrative overheads which do not contribute to bringidg Ty
their present location and condition. gz

# Selling and distribution overheads. (\
ON

inventories of a manufacturing company

According to AS-2, which of the following cosf@#@) included in valuing the

Production Overhead yes
Carriage outward No
Depreciation of Factory Plant yes
Factory Supervisor salary yes

General Administrative Overhead No
Finished Goods storage Cost No—

E.g. Anil Pharma Ltd. ordered 16/000 f certain material at *160 per unit. The
purchase price includes excise duty R$/{0 per kg in respect of which full CENVAT credit is

admissible. Freight incurred Rs.1, 40,160. Normal transit loss is 2%. The

company actually received 15,5 and consumed 13,600 kg of material. Compute cost of
inventory under AS 2 an ounf\df abnormal loss. (RTP May 2012)
Answer /N

N/

&
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Calculation of total cost of material as per AS-2

)

Purchase price (16,000 kg. x ¥ 160)
Less : CENVAT credit (16,000 kg. x ¥ 10)

Add : Freight
Total material cost

Number of units after normal loss = 16,000 kg. x (100-2)% % 1

25,40,160

Revised cost per kg. = =73 162 per kg

15,680 k
Closing inventory = Material actually received — ~ :’\ consumed
7900 )

A\t
Abnormal loss in value = 180 kg x ?(ﬁﬁgjﬁo

Cost formulas

B Following Cost formu be used:

@ Specific Identification Method

o @§/
Weighted average.

Generally \Specific Identification Method to be used when goods are not ordinarily

interc

ble or have been segregated for specific projects. (e.g. X Ltd. deals in

paintings of renowned artists, as paintings are not interchangeable.)
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Weighted average cost or FIFO method is used in cases where goods are ordinari
interchangeable.

FIFO METHOD ((
Units sold Units left )

Cost of goods sold = M Rs 8 E 'n@@? =

earliest costs = 051 fec s =

As2+4+6=As12 As 16
| . <

I Goods available for sale = Rs 2 +4+E+8/§3’=\%\28
AN Ll

WEIGHTED AVERAGE METHOD —))
L_~

Assign weighied average cost
1o each unit
Total cost of all units + Total
number of units available :
= Weighted average cost weighted average

per unit cost for 2 units
Rs 28 + 5 units = Re 5.60 A8 5.6 6560 Reb660 RAs560 |2y Rs 5.60=As 11.20

e /(’” NS

osts of goods sold =
] oods avallable for

sale - ending inventory
Rs 28 - 11.20 = As 16.80

Ending inventory =

o6dy Javailable for sale = weighted average cost
o for S5Anits =5 x As 5.60 = As 28

Technique for t ment of Cost- Standard Cost Method and the Retail
Method

ost formula method is offten used in manufacturing industry and retail
formula method is used in trading activity units.




10| Page CA VIPIN GARG

(a) Standard Cost Method:- @

v Under this method, the cost of Inventories is measured on the basis of” pre-
determined standards.
v Standard costs take into account normal levels of consumption of

supplies, labour, efficiency and capacity utilisation.

v The standards so set should be regularly reviewed and if necesg &
reflect current conditions.

v Standard Cost may be used for convenience if the results gppro ely the actual
cost. éf\
(N

sed to

cost of raw material, labour and overheads. Income r wants to know the
method, as per AS-2, for the valuation of raw material.
Answer The use of standard cost of elements of costafpredugtion has been suggested by
AS-2 as a matter of convenience only. In fact, A5-2 lggest the use of absorption
costing based on normal capacity. AS-2 says that s 4-(a cost system may be used for
convenience if the results approximate th tual co If the company can adopt
absorption costing for value of inventory, then tandard cost systems heed not be

adopted.

e.g. In order to value the inventory of finished goods, Sona%aﬁo/p’red the standard
0 i

(b) Retail Method :-

v" This method is applic infollowing stuations
- Retail trade
- Inventories o umbers of rapidly changing items

-Similar Profit ins
-Impractic ther costing methods

v' Retai h ay be used for Convenience, if the result approximate the actual

cost
v nt :
st Inventory = Sales value of Inventory /ess Appropriate Gross margin
percentage.
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i &

A trader purchased certain articles for ¥ 85,000. He sold some these articles for & 1,06(0
The average percentage of gross margin is 25% on cost. Opening stock of invento, cost
was ¢ 15,000. Cost closing inventory is shown below.

N4

Sale value of opening stock and purchase (¥ 85,000+ & 15,000) x 1.25 Q@ODO

Sales 1,05,000

Sale value of unsold stock 20,000

Less: Gross Margin (¥ 20,000/ 1.25) x 0.25 %% 4,000
(N

Cost of inventory 7N\ 16,000
\\j))
Net Realisable Value for Finished Goods and WIP @

Particulars F. 6. Amt. | WIP Amt.
Estimated Selling Price in Ordinary course, of Bug&ss Xxx Xxx

Less :- Estimated Cost of Completion //5?7 N.A. (xxx)

Less :- Estimated Cost necessary to n\&kg ‘Fﬁdﬁale (xxx) (xxx)

Net Realisable Value /\\ XXX XXX

cost and net realisable value is based on the
a value which is in excess of the value realisable by

Logic: - The valuation of inventor
view that no asset should be carrie
its sale or use.

ed unit at the end of 2009-10 is Rs.800. The unit can be
er expenditure of Rs.100. The finished unit can be sold Rs.
f 4% brokerage on selling price. Give your view.

yventory is determined below:

e.g. Cost of a partly
finished next yeal
250, subJecT To

Rs. 250
s’r of completion Rs.100
% of 250) Rs. 10
able Value Rs.140
i Rs.800

Value of inventory (Lower of cost and net realisable value) Rs.140
ore I ncrement al cost Rs.100 (cost to complete) is less than increment al revenue Rs. 240
O Rs.10). The enterprise will t heref ore decide to finish the unit for sale at Rs.250.




12| Page CA VIPIN GARG @

e.g. In example 1, suppose cost to complete the unit is Rs. 245 instead of Rs. 100. T@
enterprise will be better off by not finishing the unit as shown below:
Incremental cost Rs.245 (cost to complete) is more than incremental revenueg
(Rs.250 - Rs. 10). The enterprise will therefore prefer not to finish the unit.

Net Realisable Value = Nil
Cost = Rs. 800
Value of inventory (Lower of cost and net realisable value) = Nil

E.g. X Co. Limited purchased goods at the cost of Rs.40 lakhs in Oc010. Till
|05

March, 2011, 75% of the stocks were sold. The company wants to dj g stock at
Rs.10 lakhs. The expected sale value is Rs.11 lakhs and a commj at)10% on sale is
payable to the agent. Advise, what is the correct closing sto¢

31.3.2011. (May 2006)
ANS. As per AS 2 "Valuation of Inventories”, the inven‘rori 0

cost and net realizable value.
In this case, the cost of inventory is Rs.10 lakhs. The izable value is 11,00,000 x
RS0,

90% =Rs.9,90,000. So, the stock should be valued at\R5;

RS.

Ro

¢ valued at lower of

NRV in case of Firm Contract

v" When Inventory Stock = Contact Qua ntact price

v When Inventory Stock > Conta @ i
o Contact Quantity is valuedba@sed on Contract Price
d on General Selling Price

o Excess Quantity is

(7N

E.g. X Ltd. purchased I0,0W of crude oil @ Rs 4,400 per barrel. At the end of the
period. it has a contract to 0.000 barrels @ Rs 4,000 per barrel. However. the
market price is Rs 3,6 er barrel at the year end.

Here. for the pur ulating net realisable value, the contract price Rs 4.000 per

barrel is to be takenvhto consideration.
The value of stockuwwill bBe”: 10,000 X Rs 4,000 = Rs 4,00,00,000.
exa le. let us assume that X Ltd. has a contract to sell 9.000 barrels @
eI.

Rs 4,000.pe
Here n %Ie value is to be calculated as follows:

9,000 @ Rs 4,000 per barrel Rs 36000000

,600 per barrel Rs 3600000

Total Rs 39600000

Sﬁ@ Limited has purchased 1,00,000 units of a product @ Rs 800 per unit on 1.1.2008.
the Balance Sheet date. i.e ., 31.3.2008 there were 20.000 units in stock. Of these,
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5,000 units are earmarked against sale contract at a price of Rs 900 each. The ma k@
L@d ?@/n’:

price of the product has dropped to Rs 750. How the closing stock will be val
31.3.2008 ?

Solution Yl
The inventory will be valued as under:

Inventory held against Contract 5,000 X (lower of Rs 800 and Rs 900)
Inventory held for resale 15,000 X (lower of Rs 800 and Rs 750)
Total value of inventory

Net Realisable Value for Raw Material

E Normally, cost is the basis of valuation fgc\mﬂerial. There is no

NRV concept in the valuation of rau(%r' ; In case the
replacement cost of the raw material hqd%f@\nz@ith finished goods (in
which such raw material is incorporatebé}& likely to be sold at a
price below cost, then the raw material s \l).l|d be valued at replacement

(as NRV) cost.

Materials and other supplies hel iv’the production of inventories are
not written down below cost j inished products in which they will be
incorporated are expected to be selat or above cost.

However, when there has n@' a—~decline in the price of materials and it is
estimated that the cost of thefigished products will exceed net realisable value,
the materials are writtén 0 net realisable value. In such circumstances,
the replacement cost\af the/materials may be the best available measure of
their net realisab&valu :

E.g. Raw materi y of a company includes 1 Kg. of certain material purchased

at Rs. 100 p he price of the material is on decline and replacement cost of the
inventory a‘rzhix%\y% nd is Rs. 80 per Kg. It is possible to incorporate the material in

a finish u he conversion cost (wages and overheads) is Rs. 120.
Invento es for expected selling prices of the finished product (a) Rs. 195 (b)Rs.
23 c) 210. are shown below.

cas urrent price of material (Rs. 80) is less than material cost Rs. 100
): Selling price =Rs. 195

ntal revenue =Rs. 195 -Rs. 120 =Rs. 75

Current price of material =Rs. 80

It is beftter to not to make the product.

v et realisable value =Rs. 80
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Cost of material =Rs. 100
Value of inventory =Rs. 80

Net realisable value =Rs. 110
Cost of material =Rs, 100
Value of inventory =Rs. 100

Net realisable value =Rs. 90
Cost of material =Rs. 100
Value of inventory =Rs. 90

Case (b): Selling price =Rs. 230
Incremental revenue =Rs. 230 -Rs. 120 =Rs. 110
Current price of material =Rs. 80
It is better to make the product.

Case (c): Selling price =Rs. 210
Incremental revenue =Rs. 210 -Rs. 120 =Rs. 90
Current price of material =Rs. 80
It is better to make the product.

COMPARISON OF COST AND NET ‘@QBLE VALUE

E The comparison between

S
S
&
P
XK

<

t realisable value should be made on item-

by-item basis. except whe

/iswuppr'opricte to group similar or related items.

Question (may 2004)

(0 three

The company deal
At the time of closin

Value of the ite

ucts, A, B and C, which are neither similar nor interchangeable.

ts account for the year 2010-11, the Historical Cost and Net Realizable
stock are determined as follows:

\%tems Hisfqn’caf Cost Net Rea_ﬁsab!e Value
y/Za\ (&in lakhs) (&in lakhs)
% A 40 28
Qx B 32 32
C 16 24

t will be the value of closing stock?

Answer:- For calculating the value of stock, each item is to be reviewed individually.

The valuation of

stock

is

to be

done

as

follow:
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ltems Historical Cost Net Realisable Value | Valuation of ®
(¥ in lakhs) (< in lakhs) stock (¥ imifa
A 10 28 ~/
B 32 32 @
| i | i |G
88 84 1

VALUATION OF JOINT STOCK, BY PRODUCTS AND SCRA

A production process may result in more than one product bej uced simultaneously.
When a group of individual products is simultaneously %nd each product has

significant relative sales volume, the outputs are usually int Products.

(N
Hence, closing stock will be valued atRs.76 lakhs. \))
5

Those products which are part of the simultaneous
sales volume or in insignificant sales volume are called B¥«Products.

In case of joint products, when the ¢¢st nversion of each products are not
separately identifiable, they are allocate n the products on a rational and
e . ated on the basis of relative sales value of

consistent basis. The joint cost may -,@
each product, either when they comple ‘«‘ ar when they are separately identifiable in the
production process.

Most by-products as well as p orwaste material, by its nature, is immaterial. If this is
the case, then it is measunégd a realizable value, and this value is deducted from the
cost of main product.

&
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E.g. 5000 units of Exe and 2500 units of Wye arise jointly from a production proc
involving a total cost of Rs. 2,60,000. If the sales value at split off point is Rs. 10
60 respectively for the products Exe and Wye, explain how the total joint cost ¢
will be allocated to the products

&

Solution
Particulars Exe Wye t‘Q\TQN
Quantity 5000 units 2500 units ia its
Sale Price per Unit 100 60 \ \\
Total Sales Value 500000 150000 (1)) 2650000
Joint Cost Apportioned (on the | 200000 60000 Vo }60000
basis of Sale Value) —
Cost of Conversion per Unit 40 24 N J)

=0 o_* X—)
from the process. Brucil has to produced further ')éx T
sold for Rs. 4.80 per unit . Calculate the cost of convé }.\ 9
Solution

Joint Cost of Bomax & Brucil Rs. 385000
NRV of By product Brucil (Rs. 4.8Q< Rs. 0/80) x75000 units Rs. 30000
Net Joint cost of Bomax m ) Rs. 355000
Cost of Conversion of Main Product . /125000 units) Rs. 2.84 per unit

AN

B Accounting p lciemp ed in measuring inventories.

DISCLOSURE REQIREMENTS

B Cost formula u

mount of inventories.

ion of the above inte raw materials and components, work in

finished goods, stores and spares,Tl“ﬂded Goods and

sse tools & Other (nature to be specified).

estion\({CA- Nov. 2000)
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State with reference to accounting standard, how will you value the inventories in the followi
cases:

(i) Raw maierial was purchased at € 100 per kilo. Price of raw malerial is on the

is &80 per kg.

(i) In a production process, normal waste is 5% of input. 5,000 MT of inp
process resulting in a wastage of 300 MT. Cost per MT of input is ¢
quantity of waste is on stock at the year end.

(iii)  Per kg. of finished goods consisted of: m}/
Material cost \>

Direct labour cost

Direct variable production overhead /W 10 per kg.

=

Fixed production charges for the year on normal capac e lakh kgs. is & 10 [akhs.
2,000 kgs. of finished goods are on stock at the ye

. (1
Solution

(@) (i) As per para 24 of AS 2 (Revised) on ‘Val fatwentories’, materials and other
supplies held for use in the production o tories are not written down below
cost if the finished product in which they wijl(b® incorporated are expected to be
sold at or above cost. However, w there \has been a decline in the price of
materials and it is estimated that C of the finished products will exceed net
realisable wvalue, the materials a W down to net realisable value. In such
circumstances, the replacement t of fhe materials may be the best available
measure of their net realisable

Hence, in the given case, the
T 80 per kg. The finished™g
realisable value whichever is lowe

k_of 10,000 kgs of raw material will be valued at
on stock, should be valued at cost or net

(ii) As per para 13 of AS 2 (
other production ar
recognised as expéns

sed), abnormal amounts of waste materials, labour or
xcluded from cost of inventories and such costs are
period in which they are incurred.

In this case, nor waste is 250 MT and abnormal waste is 50 MT.

The cost of 250 M e included in determining the cost of inventories (finished
goods) at th ar end. The cost of abnormal waste amounting to ¥ 50,000 (50 MT
i arged in the profit and loss statement.




(iii) In accordance with paras 8 and 9 of AS 2 (Revised), the costs of conversion incl
a systematic allocation of fixed and variable production overheads that are inc
in converting materials into finished goods. The allocation of fixed p
overheads for the purpose of their inclusion in the costs of conversion is
the normal capacity of the production facilities.
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Thus, cost per kg. of finished goods can be computed as follows:((\

AND) =

Material cost O (@ 100

Direct labour cost 20

Direct variable production overhead 10

Fixed production overhead M @ 10
100,000 @

5 140

Thus, the value of 2,000 kgs. of finished good8 on stock at the year end will be
¥ 2,80,000 (2,000 kgs. x ¥ 140).

&



As-3 @
CASH FLOW STATAEMENTS %
PURPOSE @

¥ To provide information about the historical changes in cash and cash equivalent§
enterprise by means of a cash flow statement.

B Classification of cash flows into operating, investing and financing activiti @
SCOPE
An enterprise should prepare a cash flow statement and present the same g wjth the financial
statements for each period.

RELEVANT DEFINITIONS

I cash comprises cash on hand and demand deposits %ithank

I Cash equivalents are short term, highly liquid investmegt§that are readily convertible into

known amounts of cash.

Cash flows are inflows and outflows of cash\and cash equivalents.

Operating activities are the principa pducing activities of the enterprise other than

investing or financial activities.

It Financing activities are gctivities that result in changes in the size and composition of the

owner’s capital (including préfereénce share capital in the case of a company) and borrowings of
the enterprise.

PRESENTATION OF THE C&FLOW STATEMENT

I The cash f] %Zhould report cash flows during the period.

B Thec 5 to be classified activity-wise into operating, investing and financing
activ
CASH F@m PERATING ACTIVITIES
Y
MPLES:

I Cash receipts from customers, royalties, fees, commission, and other revenue.

Cash payments to suppliers for goods and services.



$ Cash payments to and on behalf of employees.

CASH FLOW FROM INVESTING ACTIVITIES

EXAMPLES:

¥ cash payments to acquire fixed assets. @ i
B cash receipts from disposal of fixed assets @
B Interest & dividend received %

CASH FLOW FROM FINANCING ACTIVITIES

B Proceeds from issue of share capital.

K Proceeds from long term borrowings.

 Repayment of long term borrowings.
Question 1

X Lid. purchased debentures of & 10 lacs of Y/ ¥id., swhich are traded in stock exchange. How will

you show this item as per AS 3 while prepating c¢ash flow statement for the year ended on 371
March, 207117

Answer

As per AS 3 on 'Cash flow Statemen
balance with banks and short-term, Al
debentures is for short-term period

However, if investment of ¥ 10 lacs
should be shown as cash flo m in

#sh and cash equivalents consists of cash in hand,
investments2. If investment, of ¥ 10 lacs, made in
item of ‘cash equivalents’.

in debentures is for long-term period then as per AS 3, it
ting aclivities.

Question 2 (2 Marks) (May, 2007)
Garden Ltd. acquired fi ssets viz. plant and machinery for Rs.20 lakhs. During the same year

it sold its furniture ' or Rs.5 lakhs. Can the company disclose, nef cash outflow towards
purchase of fixed as n sh flow statement as per AS-37

Answer

Accordin @321 of AS 3 (Revised) ‘Cash Flow Statements’, an enterprise should report
separatel jorslasses of gross cash receipts and gross cash payments arising from investing and
[ ing\acti , except to the extent that cash flows described in paragraphs 22 and 24 are
reported gn a net basis. Acquisition and disposal of fixed assets is not prescribed in para 22 and 24 of

Hence, the company cannot disclose net cash flow in respect of acquisition of plant and machinery
isposal of furnitures and fixtures.



ACCOUNTING FOR CONSTRUCTION CONTRACTS

®

PURPOSE
The standard prescribes the accounting treatment of revenue and costs relg
construction contracts, in different accounting periods in which congfrugti
performed.

CONSTRUCTION CONTRACT

A construction contract is one, by which a contractor :!‘ uild some asset(s)

for his customer.
A construction contract is a contract for the cons%of a single asset or of a
ingl

combination of assets which together constitute a s oject

Construction contracts include:

(a) Contracts for the rendering of sery
construction of the asset,

For example, those for the service

(b) Contracts for destructjon o sioration of assets, and the restoration of the

environment.

e.g. L&T Ltd. has rece a contract for the construction of bridge over Hooghly river
near Kolkata. For ¥ tion of new bridge, the old existing bridge is to be

demolished. This d ition'is a part of the bridge contract.

e.g. Your compan BCLtd. is constructing a new 6 Lane highway in behalf of Highway
Authority o . use in the contract requires that on both the sides of the
highway ws of trees are to be planted at the cost of the company. This is a part

3
of The,l'\l&wq tract.

h
Y
N
ONTRACTS

1. Fixed price contracts. In this type of contract, price is usually fixed in advance

¢ béfore starting contract work.) As per agreement between parties, any additional



work may be charged separately. In some cases, the contract may require the customer t

pay additional sums to compensate the contractor against cost escalations (i.e. due td (s
of materials or wages etc.)

price or cost with reasonable accuracy because of lack of past records a
digging of an oil well. The contract price is ascertained later by addingfi
profit to the cost of the contract.

Combining and Segmenting Construction Contracts

h asset should be
proposals, separate

When a contract covers a number of assets, the constructi
treated as a separate construction contract when there(g
negotiation, identifiable costs and revenues of each asy

e.g. Jindal Steel Co. Ltd. is putting a hew steel plant EW%QGI. L & T Ltd. the
contractor has submitted three separate bids the follewing:

(a) Blast Furnace Rs. 600 crore

(b) Captive Power Plant Rs. 100 crore

(c) Conveyor Belt Rs. 20 crore.
Each one of above should be treat 5 e contract.

A group of contracts, whether with a sin ustomer or with several customers, is treated
as a single construction contract re negotiated as a single package, contracts
are closely interrelated with vergl{ profit margin, contracts are performed
concurrently or in a continubds s .

Question RTP Nov. 2010

ian Qil for construction of "franchisee retail petral, outlet
als submitted to different Zonal offices of Indian Qil, the
utlet each in Berhampore, Salem, Vadodara and Warangal is
o réement (in single document) is entered into with Indian Qil for
e agreement lays down values for each of the four outlets (Rs. 44 +
acs) in addition to individual completion time. Comment whether X
a single contract or four separate contracts?

stations". Based

final approval

ere is only one document of contract. Four contract accounts have to be
recorded in the books of X Co. For each contract account, principles of revenue and
strecognition have to be applied separately, and net income determined for each




Revenue includes initial contract price, variations in contract work, incentives
payment, claims etc., and cost includes direct cost, attributable cost an
specifically chargeable to the customer.

Question RTP Nov.2012

Mr. ‘Lal’ as a contractor has just entered into a contract with a
for building a flyover. As per the contract terms, ‘Lal’ will receive

years of the commencement of the contract. Mr. L
revenue since in the past he has been able to meet sim

Answer @

As per Revised AS-7 incentive payments ar al amounts payable to the
contractor if specified performance standard ~A contract may allow for an
incentive payment to the contractor for early topiphetion of the contracts. Incentive
payments are included in cuntract enue when the contract is sufficiently

advanced that it is probable that th d performance standards will be met

and the amount of the incentive payment ean be measured reliably. In the given

problem, the contracts is not n and hence the contractor should not
Qt

recognise any revenue of this aces

METHODS FOLLOWED

The method of accounting se epresents an accounting policy and therefore if there

disclosed.

is any change in the ac%ﬂng policy the effect of the change and its amount needs to be
PERCEN% OMPLETION METHOD

(I1) CO@D CONTRACT METHOD

PERC % COMPLETION METHOD

evenue is recoghised as the contract activity progresses based on the stage of

completion.

This method can be used only if the outcome of the contract can be reliably
estimated.



Normally, the profit is not recognised in fixed price contracts unless the work o

contract has progressed to a reasonable extent (20 to 25% of the work) @
MEASUREMENT OF COMPLETION @
TAKING INTO ACCOUNT ALL RELEVANT FACTORS
L The proportion that costs incurred to date bear to the es % costs
of the contract.

2. By the surveys which measure work performed. l E)

3. Completion of a physical portion of work
Note:- If the cost to date plus estimated cost to e the contract exceed
the contract revenue, then the difference will be as loss, which shall be
accounted as expenditure immediately.

e.g.

Show Profit & Loss A/c (Extract) in books of afﬁgfﬁ%{ in respect of the following data.

\\ 7 // & 000

Coniract price (Fixed) 600
Cost incurred to date O 390
Estimated cost to complete 260

Solution M

& 000

A. Cost incurred to date \> 360
B. Estimate of cost to completio 260
C. Estimated total cost 650
D. Degree of completien (A/C) 60%
E. Revenue Recognize 0% of 600) 360
Total foresee 1088650 - 600) 50
Less: Loss year (E-A) 30
Expecte be recognised immediately 20

&N —
x& Profit & Loss A/c

v <

To Constriction costs 390 | By Contract Price 360
To Provision for loss 20 | By Net Loss 50

SO



Galaxy Ltd., has signed on 31% Dec, 2010, the Balance Sheet date, a conirac
where the total revenue is estimated at ¥ 15 crores and total cost is estimatad at

20 crores. No work began on the contract. Is contractor required to giv
accounting effect for the year ended December, 31% 2010 in his accounts? @

Answer @

Question RTP Nov.2011 @

As per para 35 of AS 7 ‘Construction Contracts, when it i§ pro that total
contract costs will exceed total contract revenue, the e I should be
recognised as an expense immediately. The amount of loss) is determined

irrespective of whether or not work has commenced on @.- kaet. Thus, Galaxy
Ltd. should recagnize loss amounting 5 crares for theyear ed 31¢ December,

2010. The contract should be reviewed at the end a accounting period for

additional losses to be incurred, if any.
Question RTP MAY 2010

A company took a construction contragt f 100 lakhs in January, 2006. It was
found that 80% of the contract was\somplgted at a cost of Rs.92 lakhs on the
closing date i.e. on 31.3.2007. T m estimates further expenditure of Rs.23
lakhs for completing the contr pected loss would be Rs.15 lakhs. Can
the company recognise the lass inntke financial statements prepared for the year
ended 31.3.20077
Answer

As per paragraphs 37 4and ap AS 7 on Construction Contracts, an expected loss
on the construction ‘cantract/should be recognized as an expense immediately
irrespective of (i).wheth not the work has commenced on the contract; or (ii) the

stage of completi f the contract; or (i) the amount of profits expected to arise in
other contra

Hence, th% must recognize the loss immediately

Inter’Adapted)

3

M/; % onstruction Company Limited undeértook a contract to construct a building

3¢ on 1st September, 2011. On 31st March, 2012 the company found that it had
spent € 1 crore 80 lakhs on the construction. Prudent esfimate of additional cost
letion was &1 crore 40 lakhs. What amount should be charged, to revenue in the
final accounts for the year ended on 31st March, 2012, as per the provisions of Accounting
Standard 7 "Construction Contracts {Revised)"?

Answer



%

7 wﬁg&s
Cost of construction incurred till date 20

Add: Estimated future cost 4

Total estimated cost of construction /(\

Percentage of completion till date to total estimated cost of construction

= (1.80/3.20)=100 = 56.25% ®\>)

Proportion of total contract value recognised as revenue as per AS 7 (Revise
Conliract price x percentage of completion <\

T 3 crores x 56.25% = ¥ 1.6875 crores
Amount of foreseeable loss /‘\\\\// (< in crores)

Total cost of construction - 3.20
Less: Total contract price (3.00)
Total foreseeable loss to be recognized as expense :\\ 0.20

r&ﬁgt costs will exceed taotal
se immediately.

According to of AS 7 (Revised 2002), when it is probable tha %
contract revenue, lhe expected loss should be recognized as 88

COMPLETED CONTRACT METHOD @

Revenue is recognised only when the contract is comp r substantially completed
Costs and progress payments received are ac lated during the course of the contract
but revenue is not recognised until the contract aétivity is substantially completed.
DISCLOSURE

u  The amount of construction work-in*progress

u Progress payments received\g
included in constructj

ddvances and retentions on account of contracts

u  The amount receivab
included in construction work-in-progress.

&



ACCOUNTING STANDARD-9

REVENUE RECOGNITION %
count
Revenue is the gross inflow of cash, receivables or other cdHsi arising in the

course of the ordinary activities of an enterprise from % of goods, (b)the

PURPOSE

This standard explains when the revenue should be recognized in profit an

and also states circumstances in which revenue recognition can be postp

REVENUE:-

rendering of services, and (¢) from the use by others of ise resources yielding
interest, royalties and dividends.

REVENUE RECOGNITION IN SALE OF 600DS %%
It is recognized when all the following conditions are f ed:-

® The property in goods is transferred

® All significant risks and rewards z) been transferred and no effective control is

retained.
® No significant uncertainty rding the amount of consideration.
® Tt is reasonable to expect ultimyte collection of consideration.
e.g. computer Point (P) L 10 computers to St. Xavier's College, Kolkata for Rs.
3,00,000 on credit>Here Computer point will recognize the revenue of Rs. 3,00,000
immediately because al credit risk derived from sales is not a reason to defer

revenue recoghi

[Qus. Botto .\eﬁyred into a sale deed for its immovable property before the end
of the @ Bu gistration was done with registrar subsequent to Balance Sheet

date. béfore finalization, is it possible fo recognize the sale and the gain at the
Balanc eetdate? Give your view with reasons. (CA-Final , Nov. 2005)

nswer Yes, . In accordance with AS 9, both sales and gain of Bottom Ltd. should be
rec ed at the Balance Sheet date and the registration of the property is merely a

formality. It is clear that significant risk and rewards of ownership had passed before
e balance sheet date.]




[Qus.The Board of Directors of X Ltd. decided on 31.3.2011 to increase sale pric
certain items of goods sold retrospectively from 1st January, 2011. As a result ¢f t

decision the company has to receive Rs.5 lakhs from its customers in respe -x s
made from 1.1.2011 to 31.3.2011. But the Company's Accountant was reluctan % e

Answer As per para 10 of AS 9 'Revenue Recognition’, the add

revenue recognition should be postponed.

[Qus. A claim lodged with the Railways in March
2,00,000 had been passed for payment in Marc ;
passed in the books of the Company, when the cl lodged. Advise P Co. Ltd. about
the treatment of the following in the Final S¥atement>of Accounts for the year ended
31st March, 2012, (CA-Final Adapted)

eivedfevenue is measurable. Therefore, the
r (2012) as part of net income. The
the same as revenue in 2010, when the claim

Answer Since the amount has be
company should recoghize in th
company was correct in not providing
was logded.

[Qus. SM company has
2012 the percentage
recoghize insuran
Accounting Standar o you agree? Explain in brief, as per the relevant Accounting
003)

ansit Insurance Policy. Suddenly in the year 2011-
nt has gone up to 7% and the company wants to

clai revenue in 2011-2012 in accordance with relevant

Answer A ay wants to suddenly recognize Insurance claim because it has
increa r' thé previous year. But, there are uncertainties involved in the

sett n The claim. Also, the claim does not seem to be in the course of ordinary
activity e company.

M company is not advised to recognize the Insurance claim as revenue.]
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REVENUE RECOGNITION IN RENDERING OF SERVICES

method.

the collection of amount of service charges.

® Proportionate completed method Recognisés proportionate
with the degree of completion of ser‘vt \ such cases there are

oA
more than one act involved and revenu Q

certain acts. ho significant uncert X
amount of service charges. %

2 )

ognised on execution of
about the collection of

e.g. your company Hindustan Constructing Co. L& ) is laying a city gas pipe line
for its client REL. Total revenue of the prgjegt is Rs. $0,00,000.
HCCL has incurred cost up to 31°' Ma Rs. 15,00,000 and the company is
expecting that Rs. 10,00,000 more will b to complete the project.
Upto 31°" December, 2007 REL h s. 12,50,000 of expenditure. HCCL is
confident that the balance Rs. 2,5 (Rs15,00,000-Rs.12,50,000) will be approved
by RELwhen their engineer will fnspe work during the 1°" week of April, 2008. No
payment has been received so
Recognise :
(a) Rs. 12,50,000 as expghses (the gmount approved)
(b) Rs. 20,00,000 as (addrued) revenue

(Rs. 12,50,000/Rs.2 ) x Rs. 40,00,000

REVENUE RECO% USE OF ENTERPRISE RESOURCES BY OTHERS

Revenue arisj
and divide

r he’use by others of enterprise resources yielding interest, royalties
Id be recongnised when no significant uncertainty as to measurablility or

collect ists.

lg%ﬂwenua from interest should be recognized on time proportion basis.
[Qus:

the time of sale is payment of consideration in 14 days and in the event of delay
1Yerest is chargeable @ 15% per annum. The Company has not realized interest from

rjun Ltd. sold farm equipments through its dealers. One of the conditions at
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the dealers in the past. However, for the year ended 31.3.2011, it wants fo reco
interest due on the balances due from dealers. The amount is ascertained a
lakhs. Decide, whether the income by way of interest from dealers is eli
recognition as per AS 9? (CA-Inter Adapted)

Answer As per AS 9 "Revenue Recognition”, where the ability to asses
collection with reasonable certainty is lacking at the time of rai O\ a
revenue recognition is postponed to the extent of uncertainty iny %} ch cases,
the revenue is recognized only when it is reasonably certain that ate collection
will be made.

In this case, the company never realized interest for {
the dealers. Hence, it has to recognize the interest enlyJif
certain. The interest income hence is not o be r'eco
[Qus.SCL Ltd., sells agriculture products to dea ne of the condition of sale is
that interest is payable at the rate of 2% p.m., for delayed payments. Percentage of

interest recovery is only 10% on such rdue outstanding due to various reasons.
During the year 2011-2012 the comp njs to recognise the entire interest

ayments make by
e ultimate collection is

receivable. Do you agree? (CA-Final

by others of enterprise resources yielding
recongnised when nho significant uncertainty
ility exists. Revenue from interest should be

Answer Revenue arising from the
interest, royalties and dividen
as to measurablility or colle
recoghized on time propgpfio

Thus, SCL Ltd. cannot e the interest amount unless the company actually
receives it. 10% rate.of recovery on overdue outstanding is also an estimate and is not
certain. Henc y is advised to recognise interest receivable only on receipt

basis. \

on accrual basis as per terms of agreement.

Co. LLtd., used certain resources of X Co. Ltd. In return X Co. Ltd. receivedRs.
andRs.15 lakhs as interest and royalties respective from Y Co. Ltd. during the
year 2011-12. You are required to state whether and on what basis these revenues can
be._recoghised by X Co. Ltd. (CA-Final, May 1999)
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Solution As per AS 9 on Revenue Recognition, revenue arising from the use by ot e@
of enterprise resources yielding interest and royalties should only be recognised wh
no significant uncertainty as to measurability or collectability exists. Thesz@

are recoghised on the following bases:

(i) Interest: on a time proportion basis taking into account the amounding
and the rate applicable.

(ii)  Royalties: on an accrual basis in accordance with the fer e relevant

agreement.]
& Dividends: when the declaring company declares divi

[Qus. X Limited has recognized Rs.10 lakhs on accr
units of mutual funds of the face value of Rs. 50 Ja
financial year 31st March, 2011. The dividends

ingome from dividend on
by it as at the end of the
unds were declared at the

rate of 20% on 15th June, 2011. The dividend w sed on 10th April, 2011 by the
declaring company. Whether the treatment is as’ per the relevant Accounting
Standard? You are asked to answer (with rence to provisions of Accounting

Standard.(CA-Inter Adapted)]

Answer Paragraph 8.4 and 13 of Standard 9 'Revenue Recognition’ states
that dividends from investm es are hot recognised in the statement of
profit and loss until a right to ayment is established. In the given case, the
dividend is proposed on h April, 2011, while it is declared on 15th June, 2011.
Hence, the right to retgiv nt is established on 15th June, 2011, As per the
above mentioned paragr if¢ome from dividend on units of mutual funds should be
recoghised by X Lfd)in the financial year ended 31st March, 2012.

The recognitio -1O0-lakhs on accrual basis in the financial year 2010-2011 is not as
per AS 9 'Revenue Regognition'.

DISCLOS@QUI EMENTS

%I n of revenue is postponed due to the effect of uncertainties, an
sholld disclose the circumstances in which revenue recognition has been
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S
e ¢

ACCOUNTING FORINVESTMENTS

PURPOSE: - Accounting for invest ments in t he financial st atements of ent end

relat ed disclosure requirement s.

Investments are assets held by an enterprise for earning income by W dividends,
interest, and rentals, for capital appreciation, or for other benefi e investing
enterprise. Assets held as stock-in-trade are not ‘investmen

Classification of Investments @
Investments are classified as Long Term Investments @Tﬂ-m Investments.

e Current Investment is intfended to be held f ore than one year and readily
realisable.
s Long term Investment is an investment/oth an a current investment.

COST OF INVESTMENTS

-The cost of an investment includes isition charges such as brokerage, fees and

duties. %

FOR EXAMPLE , X LTD. PU ASE\%I0,000 SHARES @ Rs.120 each and paid brokerage
@2%
The acquisition cost of the ifvestment is as under:

Cost of shares (10,000XRs.12 Rs. 1,20,000
Add: Brokerage (2% onRs. 1,20,000) Rs. 2,400
Cost of acquisitio Rs. 1,22,400

-In case of infestments acquired in exchange of securities etc., investments shall
be r‘ecor‘d% ue of the securities issued.

e.g. X Lid. acquifed 10,000 shares of Rs. 100 each (market value Rs. 130 each) in Y Ltd. by
the is its 10,000 share-face value and market value per share being Rs. 100 and Rs.

Rs. 12 .1,20,000

-In case, investments were bought by exchange of another asset, the acquired
ent shall be recorded at the fair value of the asset given up. It will be
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appropriate to consider fair value of the investments bought if it is more cle r@
evident.

e.g. X Ltd. acquired 10,000 shares of Rs. 100 each (market value Rs. 120 each) in exc
for a machinery (WDV Rs. 90,000 and market value of Rs. 1,10,000).
investment in this case, would be either the fair value of the shares acq
1,20,000 or the fair value of the machinery given up, i.e. Rs. 1,10,000-whichisnore/¢learly
evident.

INCOME FROM INVESTMENTS @735//
Interest, dividend and rentals receivable in respect of such in¢és e treated as
income except where such interest or dividend relates to pr@ﬂo period, in which

case, such interest or dividend received is reduced from th 10n cost.
VNN

e.g. On 1°" April, 2008 X Ltd. purchased 2000, 12% debentur f Rs. 100 each @ Rs. 98
(cum-interest). Debenture interest is payable half y () June and 31°' December.
Date of closing the books of account is 31°' Decembe year, Cost and accrued
interest are to be calculated as follow:

Step 1: calculation of period (in months) - F
Step 2: Accrued interest = 12% x 3/12 x Rs.
Step 3: Cost [(Rs. 98 x 2,000) less Rs. 6,000 >

008 to0 31.3.2008 = 3 months

6,000-Rs. 6,000 = Rs. 1,90,000

Rights Share

When right shares offered are subscribe
the carrying amount of the origina ' f

If rights are not subscribedfor
to the profit and loss statenent.

, the cost of the right shares is added to

ape sold in the market, the sale proceeds are taken

Where the investmen
investments immedi

re acquired on cum-right basis and the market value of

their becoming ex-right is lower than the cost for which
y be appropriate to apply the sale proceeds of rights to reduce
the carr‘yfr%m;gn stch investments to the market value.

they were acquifed, |

J1 at ¥ 110 each. X subscribes for the right issue. Thus, the total cost of
g of ¥00 shares would amount to ¥ 72,000.

e does not subscribe but sells the rights for ¥ 15,000. The ex-right market
0 shares bought by X immediately after the rights falls 1o ¥ 40,000. In this
case oul of sale proceeds of ¥ 15,000, ¥ 10,000 may be applied lo reduce the carrying
unt to the market value ¥ 40,000 and ¥ 5,000 would be credited to the profit and
sdccount.

For e.g. ~AM N acquires 200 shares of a company on cum-right basis for ¥ 50,000. He
subse % ives an offer of right to acquire fresh shares in the company in the
n
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I nvestment properties

The cost of any shares in co-operative society or a company, the holding of\}y
directly related fo the right to hold the investment property, is add@
amount of the investment property. (Such Investment Prop

valued as per cost model of PPE as per AS-10.) @\\\\)

e.g. X Ltd. purchased a flat from a co-operative society for Rs. 50, 00-# will be rented
out to other company to obtain the membership of the socie Ltdl had to purchase
1,000 shares of Rs. 100 each of the society.

The cost of acquisition of this investment property bec0,000 +Rs. 1,00,000.
N

= Rs. 51,00,000.

Carrying Amount of Investments %

The carrying amount for current investments is wer of cost and fair value. Valuation
of current investments on overall basis i onsigered appropriate. The more prudent
and appropriate method is to carry in ts individually at the lower of cost and fair
value.

Reduction and reversals of cur estments shall be done through profit and loss

account.

Long-term investments are\te be yglued at cost. (Valued as per cost model of

PPE as per AS-@Q\I It can be reduced to a lower value (i.e. by making provision for

reduction individu fall in the value of investment is permanent. It can also be
reversed if ’rhe%&i the fall is no longer in existence.(i.e. value of investment rises)

e.g. Anun @ ong\férm investment is carried in the books at its cost of Rs.b lakhs. The
Published~Acsadnts of the unlisted company received in May, 2010 showed that the
compa % rring cash losses with declining market share and the long term
investment may’not fetch more than Rs.80, 000.

reasons, how you would deal with them in the Financial Statements. (RTP Nov.
2011)
Answer
? ents classified as long term investments should be carried in the financial

atements at cost. However, provision for diminution shall be made to recognise a
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decline, other than ftemporary, in the value of the investments, such reduction bei
determined and made for each investment individually. Para 17 of AS 13 'Accoun’ri
Investments' states that indicators of the value of an investment are obiaingd
reference to its market value, the investee's assets and results and the expe
flows from the investment. On this basis, the facts of the given case clearly

exchange on 1t May, 2007 at a cost of Rs.5,00,000.
Rs.2,00,000 and Silver of Rs.1,50,000 on 15t April, 20 ,
investments as per the applicable AS in the book gompany for the year

ended on 31st March, 2008, if the values of these in are as follows:
Rs.
Shares ,000
Gold
Silver 29U,
Answer
As per para 32 of AS 13 on ' for Investments’, any investment of long

term period is shown at ¢ H

on 1st April 2005) sh
Rs.1,50,000 respectively

Also as per AS 13,
period then the

e, the investment in Gold and Silver (purchased
to be shown at cost i.e., Rs.2,00,000 and
ivalue have increased.

investment in shares - if the investment is for short-term
/3,00,000 is to be charged to profit & loss account for the
year ended % , 2008. If investment is of long term period then it will
continue shown at cost in the Balance Sheet of the company. However,
provisi minution shall be made to recognize a decline, other than temporary,
in th N e investments, such reduction being determined and made for each
investment individually.

DI SPOSAL OF INVESTMENTS

osal of an investment, the difference between the carrying amount and the
isposal proceeds, net of expenses, is recognised in the profit and loss statement.
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partial disposal When disposing of a part of the holding of an individual investment, th @
carrying amount to be allocated to that part is to be determined on the basis of the %

average carrying amount of the total holding of the investment.
RECLASSIFICATION OF INVESTMENTS @

whichever is lesser on the date of reclassification.

E.g.

‘Suram’ Ltd. wants to re-classify its Investment in accorda@t\s 13. Decide on the

treatment to be given in each of the following cases:

(1) A portion of Current Investments purchased, 20_1akhs fo be reclassified as
long-term Investments, as the company has d to retain them. The market
value as on the date of Balance Sheet was & 25 .

(2) Ancther portion of Current Investments purchased for & 15 lakhs has to be re
classified as Long-term Investments. \The market value of these investments as on

the date of Balance Sheet was

(3) Certain Long-term Investments no™arger considered for holding purposes have fo be
re-classified as Cuirent Inve tﬂ?‘ original cost of these was < 18 lakhs but they
had been written down to &1 s to recognize permanent decline as per AS 13.

Answer

As per Para 24 of AS 13 'Acco g for Investments’, where investments are reclassified
from current to long-term, s are made at the lower of cost and fair value at the
date of transfer.

In the first case, ma value® of the investment is ¥ 25 lakhs, which is higher than
its cost i.e. ¥ 2 ; herefore, the transfer to long term investments should be

carried at cost akhs.

In the second\sas e market value® of the investment is ¥ 6.5 lakhs, which is lower
z lakhs. Therefore, the transfer to long term investments should be

carried{ithe.books at the market value i.e. ¥ 6.5 lakhs. The loss of ¥8.5 lakhs should

bec % ofit and loss account.

As per para 23'of AS 13, where long-term investments are re-classified as current investments,
made at the lower of cost and carrying amount at the date of transfer.

In the third case, the book value of the investment is ¥ 12 lakhs, which is lower than its

cost i.e. ¥ 18 lakhs. Here, the transfer should be at carrying amount and hence this re-

sified current investment should be carried at ¥ 12 lakhs.
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DISCLOSURES @
a. Accounting policies adopted for determination of carrying amount. %

b. Classification of Investments

¢. The amounts included in profit and loss statement for: @
I. The amounts included in profit and loss statement for intere s,

rentals profits and losses on disposal of investments

ii. Profits and losses on disposal of current investments n carrying
amount of such investments.
iii. Profits and losses on disposal of long term inv@ and changes in the

carrying amount of such investments.
d. Significant restrictions on the right of ownership%iliw of investments or the

remittance of income and proceeds of disposal,

2

e. The aggregate amount of quoted and unquoted irivelstments,
A@ by the relevant statute.

Albert Finance Ltd. has made th owing investments:

(i) Purchased the folloﬁgqu\%t shares from stock exchange on 15t June, 2010:
v Cost

NN i

Scrip X 1,80.000

ScripY 50,000

Scrip \ 1,70,000
7 4,00.000

(i) P }se%gold of ¥ 3,00,000 on 15t April, 2007.

(iii) 1 stedin mutual funds at a cost of T 6,00,000 on 315t March, 2010.

ased government securities at a cost of ¥ 5,00,000 on 15t April, 2010.

How will you treat these investments as per applicable AS in the books of the

any for the year ended on 315 March, 2011, if the values of these investments
eas follows:

f. Other disclosures as specifically reg

Example (RTP May 2012)
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Shares T
Scrip X 1,980,000

Scrip Y 40,000
Scrip Z 70.000

Gold
Mutual funds
Government securities >

Also explain is it possible to off-set depreciation in ,
against appreciation of the value of investment in governmer

(Hint: Para 14, 15 & 17 of AS 13) Q
Answer
As per para 14 & 15 of AS 13 ‘Accounting for Investments’, current investments

should be carried at lower of cost and faiypri etermined either on an individual
investment basis or by category of inv ent//but not on an overall (or global)
basis. Also as per para 17 of the stlr ", long-term investments are carried at cost

except when there is a declin erthan temporary, in the value of a long term
investment, the carrying amoun ed to recognise the decline.
(i) If the investment in Ahares.s intended o be held for not more than one year

from the date on wi such/investment is made then scrip X should be valued
at costi.e. T1,80,000 (fower of cost and fair value), scrip Y should be valued at
fair value i.e. ¥ 0 (lower of cost and fair value) and scrip Z should be
€. T70,000 (lower of cost and fair value). The total loss of
,000 - ¥ 3,00,000) on scrip's purchased on 15t June, 2010 is

valued at {al
< 1,00,00 4,
to bed profit and loss account for the year ended 315! March, 2011.

I =;, is intended 1o be held for long term period then it will continue to
be\showet at cost in the balance sheet of the company. However, provision for

ution shall be made to recognize a decling, other than temporary, in the
valué of investments, such reduction being determined and made for each
investment individually.
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(i) The investment in gold (purchased in April, 2007
at cost of 3,00,000 in the balance sheet as on 31

CA VIPIN GARG (9953000305) @
) shall continue to be %z

3.2011.

(iiiy If mutual funds are intended to be held for short term period ther

valued at ¥4,50,000 as on 31st March, 2011 and
long term then it should be valued at its costi.e. ¥

if it is intended fx

cost of ¥ 5,00,000 in the balance sheet as on 31.3.20

1
Inter-category adjustments of appreciation and depreci@@ of investments

6,00,000.
(iv) Value of government securities (purchased on 15t April, 20 shown at

cannot be done. It is not possible to offset deprecia

vestment in mutual

funds against appreciation in value of investments i ') t securities.

i

O

©

&



AS- 14 @
ACCOUNTING FOR AMALGAMATIONS @

PURPOSE %
u Accounting for amalgamations, @
u Treatment of any resultant goodwill or reserves. @
TYPES OF AMALGAMATIONS @
u NATURE OF MERGER %
u NATURE OF PURCHASE @
CONDITIONS FOR NATURE OF MERGER @
# All the assets and liabilities are Tr‘ansferr'éz %E

B/ Shareholders holding not less than 9Q7 face value of the equity
shares of the transferor company be shareholders of transferee
company;

B/ The consideration is dischar by/fthe issue of equity Shares in the
transferee company:

& The business of the Trans ‘: or Company is intended to be carried on; &

# No adjustment to be

e to the book values of the assets and liabilities.

2

[Briefly explain the methods of
14 (CA-Inter Adapted)]

ing for amalgamation as per Accounting Standard-

[List the conditions to Ifilled as per Accounting Standard 14 for an amalgamation to
be in the nature o —in the case of companies. .(CA-Inter Adapted)]

2. In of amalgamation in the nature of purchases, the difference between the
net asset value of the transferor company and the purchase consideration shall be

nfified as goodwill/capital reserve. For similar situation in case of amalgamation
the nature of merger, the difference will be tfransferred to profit and loss
gtcount or general reserve.



3. The benefit derived in case of amalgamation in the nature of merger is to
protect the entire net asset value of the transferor company in the books o

merged entity including the reserves and surplus. The name of the accounti

treatment followed for amalgamation in the nature of merger is pooling of in t
method. For amalgamation in the nature of purchases, it is referred to as asés
method.

4, In case of amalgamation in the nature of purchases, Ammhon
. N\
Adlusfmenf Reserve Account shall be debited for creati statutory

reserve of the tfransferor company in the merged entity & Th% amation
Adjustment Reserve Account will be shown @/@éﬁ/éra‘re item
) o/ Cé/ }

in the balance sheet as per schedule@&l ¥ Companies

ACT[2013. This requirement is not felt under poo rest method as the
are

entire reserves and surplus of Transferor Co protected when the net

assets are incorporated in the books of the merge :

DISCLOSURES @
FIRST YEAR - BOTH NATURES OF AMAL M@ON

business of the amalgamating companies;

mation for accounting purposes;

=
-+
>
®
3
®
S
o
S

ounting used to reflect the amalgamation; and

u partictlars of fhe scheme sanctioned under a statute.
FROM SECOND Y’EA;;1
Pooling of sfs method
(a) x\l\vp\}and number of shares issued,
e

( amount of any difference between the consideration and the value
et assets acquired

Purchase method

(a) A description of the consideration paid or payable;

(b) Any difference between the consideration and the value of net assets
acquired.



[Briefly describe the disclosure requirements for amalgamation including additional
disclosure, if any, for different methods of amalgamation as per AS 14. (CA Inter
) @



